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QUESTION 1

Where would you create an export policy? 

A. in a FlexVol volume 

B. in a RAID group 

C. in a Storage VM 

D. in an aggregate 

Correct Answer: C 

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-nfs-
cg%2FGUID-55EF7FD7-4904-404A-9D53-93ECFFB00B22.html 

 

QUESTION 2

What are two main benefits when configuring Advanced Disk Partitioning (ADP) on an AFF or FAS system? (Choose
two.) 

A. Increases deduplication efficiencies. 

B. Reduces the RAID parity overhead. 

C. Decreases disk failure rate. 

D. Optimises storage capacity. 

Correct Answer: CD 

 

QUESTION 3

Which StorageGRID feature is used to define the object placement and replication rules within a StorageGRID system? 

A. Object Lifecycle Management (OLM) 

B. Storage Classes 

C. Information Lifecycle Management (ILM) 

D. application lifecycle management (ALM) 

Correct Answer: C 

Reference: https://www.slideshare.net/solarisyougood/netapp-se-training-storage-grid-webscale-technical-overview 

 

QUESTION 4
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Which NetApp Cloud Manager add-on service scans your data to locate personally identifiable information (PII)? 

A. Cloud Compliance 

B. Cloud Insights 

C. Cloud Sync 

D. Cloud Backup 

Correct Answer: A 

https://docs.netapp.com/us-en/occm/concept_cloud_compliance.html 

 

QUESTION 5

What are three types of data access? (Choose three.) 

A. cloud 

B. object 

C. RAID 

D. block 

E. file 

Correct Answer: BCE 

 

QUESTION 6

You are setting up a new StorageGRID environment. 

In this scenario, which two nodes would you deploy? (Choose two.) 

A. storage node 

B. admin node 

C. management node 

D. cluster node 

Correct Answer: BD 

 

QUESTION 7

Which StorageGRID component is used to create tenant accounts and control how clients connect? 

A. Admin Node 
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B. Grid Manager 

C. Tenant Manager 

D. Storage Node 

Correct Answer: C 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2582762 

 

QUESTION 8

When creating a StorageGRID solution with two sites, how many storage nodes are required? 

A. at least three nodes per site 

B. at least four nodes in total 

C. at least two nodes per site 

D. at least one node per site 

Correct Answer: A 

Reference: https://docs.netapp.com/sgws-111/index.jsp?topic=%2Fcom.netapp.doc.sg-
admin%2FGUID-4982C9E3-7D7B-460C-83E1-8514BD12C1A9.html 

 

QUESTION 9

What are three benefits provided by the Spot by NetApp portfolio? (Choose three.) 

A. continuously optimizes cloud resources 

B. replicates data to other clouds 

C. reduces cloud infrastructure costs 

D. scales Windows Virtual Desktops in Azure 

E. avoids service disruption 

Correct Answer: ACE 

 

QUESTION 10

You are tiering data from your primary NetApp ONTAP cluster to StorageGRID. In this scenario, which statement about
FabricPool licensing Is correct? 

A. There is no way to increase the capacity of a FabricPool license after the Initial purchase. 

B. A FabricPool license Is not required. 
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C. Each cluster purchased by a user includes a single 10 TB FabricPool license. 

D. The FabricPool license is Included with the NetApp ONTAP bundle. 

Correct Answer: B 

Reference: https://www.netapp.com/pdf.html?item=/media/17219-tr4814pdf.pdfandv=20216161439 

 

QUESTION 11

Which two statements are true regarding an ONTAP Select deployment? (Choose two.) 

A. Multiple nodes from a single ONTAP Select cluster should not run on the same hypervisor host. 

B. You can add an ONTAP Select node directly to a NetApp engineered hardware ONTAP cluster. 

C. The hypervisor host is running either VMware ESXi or Red Hat KVM. 

D. Each hypervisor host within an ONTAP Select cluster can run a different version or release of the hypervisor
software. 

Correct Answer: AC 

 

QUESTION 12

You are using NetApp Cloud Volumes ONTAP for AWS. You need to have data protection for your cloud data. 

What NetApp service would you use to satisfy your requirements? 

A. Cloud Sync 

B. Cloud Volumes Service for AV\ 

C. Cloud Backup 

D. SaaS Backup 

Correct Answer: B 

Reference: https://www.netapp.com/cloud-services/cloud-volumes-ontap/aws/ 

 

QUESTION 13

Your company is using a FlexPod reference architecture. You want to manage your compute, storage, and visualization
environment in a single UI. In this scenario, which product would satisfy these requirements? 

A. Cisco Intersight 

B. NetApp Active IQ Unified Manager 

C. VMware vCenter 
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D. Cisco UCS Director 

Correct Answer: B 

 

QUESTION 14

In which two scenarios would NetApp Cloud Backup be used to restore files? (Choose two.) 

A. when using an E-Series solution on-premises 

B. if a volume in a different working environment is in a different account 

C. when a volume in a different working environment is in the same account 

D. if a volume is in the same working environment 

Correct Answer: CD 

Reference: https://docs.netapp.com/us-en/occm/task_restore_backups.html 

 

QUESTION 15

You want your developers to be able to request storage on private and public cloud locations using a single API
endpoint. In this scenario, which NetApp service provides this capability? 

A. Cloud Manager 

B. Cloud Sync 

C. Cloud Volumes ONTAP 

D. Cloud Volumes Services 

Correct Answer: A 
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